00000000 BPO60A-LF

oooo goobnboDUBPO60A-LF
oooo goooboobboodd
00O HEN

oooo go:0dd

U O :BPO6OA-LF

0000 0000000000000 0 2110 2-31020
0ooo 86 025 85352928 15895937401
oo

gobooboboooogd oboobbobobbodoada
0 0 0015105194148 0O 0 O
gobboobboooooooboobobood

000000 DO p085db-ab:nc 3mm m8x 0.5 45 8,040 [cad]p08sb-a b:nc 3mm ¢ 8 45 8,040 p10da-a
a:no 3mm m10x 0.5 40 8,040 p10db-a b:nc 3mm m10x 0.5 40 8,040 p10sa-aa:no 3mm ¢ 10 40

8,040 p10sb-a b:nc 3mm ¢ 10 40 8,040 p10dlb-a b:nc 10mm m10x 0.5 70 10,100pl2da-a a:no 3mm
2-m4 40 9,100p12db-a b:nc 3mm 2-m4 40 9,100p12dlb-a b

OO000000b0O0 dhttpwww.highhui.comd OO 0O OO 0O 0O O 0O 1510519414800 [ O 860 025-85352928
-80400 O [J 8601 025-8535749000 [J J 15105194148@163.comqql] 38269791900 U U DO U DO OO
151051941481 025-85352928-804

pl0dha-taw a:no 3mm m14x 0.5 50 16,500 [cad] O O Jp10dhb-taw b:nc 3mm m14x 0.5 50
16,500p10sha-taw a:no 3mm ¢ 14 50 15,800p10shb-taw b:nc 3mm ¢ 14 50 15,800p10dhltb-tawpllddb-du
b nc 10 O 3mm 2-¢ 4.6 10,200 [cad] O O Jplldmb-du bl nc 100 O 3mm 2-m4 10,200 p1ledb-du bJ nc
10 0 5mm 2-¢ 4.6 10,200 p1lemb-du b nc 100 00 5mm 2-m4 10,200 p11lgdb-du bl nc 100 00 2mm 2-@ 4.6
10,200 p11gmb-du bJ nc 100 OO 2mm 2-m4 10,200 p21edb-du bpl0mcaall no 1.2mm m10x 0.5 40 7,200
[cad] [0 [0 Jp10mcbl10bptSmiwb b nc ip40 m5x% 0.5 1.5mm 17 5,800 [cad]ptSsiwb bl ncip40 ¢ 5
1.5mm 17 5,500 ptSmlcb bJ nc ip40 m5x 0.5 1.5mm 17 6,300pt5slcb b0 ncip40 ¢ 51.5mm 17
6,000ptp5Smlch b nc ip67 m5x 0.5 1.5mm 25 6,800 ptp5slcbptSm3wb b ncip40 m5x 0.5 1.5mm 17

4,800 [cad]pt5s3wb b ncip40 @ 51.5mm 17 4,500 ptom3cb b nc ip40 m5x% 0.5 1.5mm 17

5,300pt5s3cb b ncip40 ¢ 5 1.5mm 17 5,000ptp5m3ch b nc ip67 m5x 0.5 1.5mm 25

5,800 ptp5s3chcsj055a a:no 2mm ip65 m5x 0.5 302,800 [cad]cs065a a:no 2.8mm ip65 m6x 0.5 40




3,200 css60a a:no 2.8mm ip65 @ 6 40 2,900 css60b b:nc 2.8mm ip65 @ 6 40 2,900 cs067a a:no 2.8mm ip65

m6x 0.75 40 3,200 ¢s067b b:nc 2.8mm ip65 m6x 0.75 40 3,200 css80a a:no 2.8mm ip65 @ 8 40

2,900 csk087a a:no 5mm ip65 m8x 0.75 55 3,600 csk087b b:nc 5mm ip65 m8x 0.7555 3,600 csp087a-a a:no
2.8mm ip67 m8x 0.75 50 4,100csp087b-acshl12la-aa:no 2.8mmip65 m12x 1 60 4,900 [cad]cshl21b-
acsm105wa a:no 1.5mm ip65 m10x 0.5 15 3,200 [cad]csmpl05wa a:no 1.5mm ip67 m10x 0.5 19

3,500 csm105ca a:no 1.5mm ip65 m10x 0.5 17 3,400 csmpl05ca a:no 1.5mm ip67 m10x 0.5 22

3,700 csm105wb b:nc 1.5mm ip40 m10x 0.5 12 3,200 csmp105wb b:nc 1.5mm ip67 m10x 0.5 16

3,500 csm105¢h b:nc 1.5mm ip40 m10x 0.5 17 3,400 csmpl05chcsrnatna-11a npn-no 30° ¢ 109,700

[cadO O O Jesrnatpa-I11a pnp-no 30° ¢ 10 9,700csrnbtnb-11a npn-nc 30° ¢ 10 9,700csrnbtpb-Ilacsc ip65 ¢ 14
3mm 50 13,200 [cadl] [0 [J Jescp ip67 @ 14 3mm 60 14,300 cschp-tawsts060pa a:no med [ O [

2,320 [cad O O ]sts060pb b:nc m60 O O [ 2,320sts080pa a:no m8L1 [1 I [ 2,480sts080pb b:nc m81 [ O I
2,480 sts100pa a:no m100 O 00 [0 2,570sts100pb b:nc m100 O O O 2,570ste060pa a:zno m6L1 [ [1 [ 2,480
[cadO O O ]ste060pb* b:nc m6L1 [ [ [0 2,480ste080pa a:no m8L1 (I [1 [1 2,640ste080pb* b:nc m8 I O [
2,640ste100pa a:no m100] OJ O O 2,640ste100pb* b:nc m100 O O OO0 2,640stp080ua a:no m81 O O O 3,100
[cad O O ]stp080ub b:nc m8 OO OO O 3,100stp100ua a:no m10C1 [0 00 O 3,100stp100ub b:nc m1001 [0 00 O
3,100stp080da a:no m801 0 I [I 3,100stp080db b:nc m81 0 O O 3,100stp100da a:no m100] OO O [

3,100 stp100dbstb080a a:no m8 [ I [0 2,480 [cad O [ ]stb080b b:nc m81 OO O I 2,480sth100a a:no
m100 O O O 2,570stb100bstm1laip44 ¢ 8 8 2,050 [cadl] [0 I Jstm6laip67 @ 9 11.5 2,510stm13aip44

¢ 10 8 2,120stm63aip67 @ 11 11.5 2,580stm31aip44 m10 8 2,240stm8laip67 m10 11.5

2,710stm33aip44 @ 13 8 2,340stm83aip67 ¢ 13 11.5 2,850stmbllaip44 @ 8 11 2,210stm35astml2a

ip44d @ 8 15 2,180 [cad O O ]Jstm62aip67 ¢ 9 18.5 2,650stml4aipd4 @ 10 15 2,240stm64a ip67

@ 11 18.5 2,710stm32aip44 m10 15 2,440stm82a ip67 m10 18.5 2,920stm34a ip44 ¢ 13 15

2,490stm84a ip67 @ 13 18.5 2,990stmbl2aip44 ¢ 8 18 2,330stm36acsfn105a-h6x a:no 0.1n 2mm

m10x 0.5 28 2,750 [cadl] 00 [ Jesfsn10a-h6xcs067a-htl a:no 715000 2.8mm m6x 0.75 12,100

[cad O O Jes067a-ht2 a:no 220000 2.8mm m6x 0.75 14,300sts060a-ht1 a:no 215000 0.7mmme6d O O [
11,300sts060a-ht2 a:no 220000 0.7mm m60 O OO O 13,500stm8la-htl a:no ?15000 0.3mm m10x 0.75 11,700stm81a-
ht2 a:no 720000 0.3mm m10x 0.75 13,900stm82a-htl a:no 715000 0.3mm m10x 0.75 11,900stm82a-ht2gn-
ptom3bhall 19810 0 0 0000000000 ODO0O0ODOOOODOO0ODOOOO0DOO0ODOOOODOO
175hd[0 kla-10-xxkla-11-xx 100 0 3mm 0.2mm 2nk2a-6x-xx 301 [ z=4mmk3ma-xx

guooooobood
00000000000 oobobobobbOoggBrPOGOA-LFOOD OO DD ODDODODOOO0OoOooobobooOO

gobobobbboooooobobbbbbdoooobobobbboooooonobobbOdds32d %F.
Stz wrsddoodoliDwrsooooobo20booobo20000giz


http://www.tcpdf.org

